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NASOBENIE MOCNIN - C Meno
Zakruzkuj spravny vysledok prikladu!
1) 3% 8 2) 5° 5
A) 3° B) 3% A) 5% B) 5°
C) 3° D) 3’ C) 5° D) 5
3) -5[{(-5)° 4) (-3)° -3)*
A) (-5)° B) (-5)° A) (-3) B) (-3)’
C) (-5)7 D) (-5)* C) (-3)* D) (-3)°
5) —3x* Bx® 6) 3p 4p
A) 6x’ B) —9x’ A) 16p* B) 12p°
C) 4x* D) —6x* C) 4p* D) -4p*
7) 3ab® [2ba 8) 4x°y” (2x°y°
A) 2b%a? B) 3ab A) 64y"x* B) 8x°y°
C) 6a*b? D) 12b%a* C) 6x°%° D) 4x%y

10) -29°r” (2rg”
A) —4r?p*q® B) -12p°r’
C) —4q°r® D) 12p%q’r
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NASOBENIE MOCNIN - C

2) C 3) C
6) B 7) C
10) C



